
FRONT

BACK

USS GRADE 8 HARDWARE ASSORTMENT
Serviced By:
319 Cooke Street, Plainville CT 06062

1-800-624-6735 www.robrandproducts.com

7/16 HEX NUT

NHA103
*NHA103*

3/8 HEX NUT

NHA102
*NHA102*

5/16 HEX NUT

NHA101
*NHA101*

1/4 HEX NUT

NHA100
*NHA100*

7/16 LOCK WASHER

LWA103
*LWA103*

3/8 LOCK WASHER

LWA102
*LWA102*

5/16 LOCK WASHER

LWA101
*LWA101*

1/4 LOCK WASHER

LWA100
*LWA100*

7/16 FLAT WASHER

FWA103
*FWA103*

3/8 FLAT WASHER

FWA102
*FWA102*

5/16 FLAT WASHER

FWA101
*FWA101*

1/4 FLAT WASHER

FWA100
*FWA100*

3/8 x 3/4  HHCS

HC8160
*HC8160*

5/16 x 3/4  HHCS

HC8131
*HC8131*

1/4 x 3/4  HHCS

HC8102
*HC8102*

1/4 x 1  HHCS

HC8104
*HC8104*

1/4 x 1-1/2 HHCS

HC8106
*HC8106*

5/16 x 1  HHCS

HC8133
*HC8133*

5/16 x 1-1/2 HHCS

HC8135
*HC8135*

3/8 x 1  HHCS

HC8162
*HC8162*

3/8 x 1-1/2  HHCS

HC8164
*HC8164*

7/16 x 2  HHCS

HC8193
*HC8193*
7/16 x 1-1/2  HHCS

HC8191
*HC8191*

1/2 x 1-1/2  HHCS

HC8218
*HC8218*

1/2  LOCK WASHER

LWA104
*LWA104*

1/2 x 2  HHCS
HC8220

*HC8220*
1/2  HEX NUT

NHA104
*NHA104*

1/2  FLAT WASHER
FWA104
*FWA104*


